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On p. 520 at end of Eq. (1.2) add: “> U, ”; the expression preceding the integral sign in the second line of Eq. (1.4) should
read: “ — (exp( — U,)/2U,)”; the final parentheses in Eq. (1.4) should read: “(e” — 1)"”; in the first parentheses of Eq.
(1.5) replace 1.6 by 16.

On p. 521 in Eq. (1.6) in the first parentheses replace 1.6 by 16, and replace the last two parentheses by: (exp( — U/
T?)(1 — U?);in thesecond lineabove Eq. (1.7a) delete “bound-bound”’; in first parentheses of Eq. (1.8) replace 1.28 by 128.
On p. 522 the left-hand side of Eq. (1.10) should read: “e(v,T) = ”; the summation at end of Eq. (1.10) should read
uzpl (V,T)”.

On p. 527 in line 11 in second column below Fig. 10 delete 30 + 3.



